IQJ XX di Donzello Rosanna

Via della Fattoria di Torrenova 36 - 00133 Roma - Italy
B & Fax +39 (0) 6 - 27858223 & +39 3282899664

83JXX26 Yagi

VAT number: IT09527381009
www.i0jxx.com - info@iQjxx.com

Item Q.ty Item Q.ty
Stainless steel nut M3 e 12 Stainless steel bolt M3x16 e 12
Stainless steel nut M4 @ 14 Stainless steel bolt M4x16 w 3
Stainless steel nut M6 @ 8 Stainless steel bolt M4x30 ::‘1‘:‘::‘1‘:‘ 2
Lock washer 3 mm @ (@] 12 Stainless steel bolt M4x35 I — e 6
Lock washer 4 mm @ (@) 16 Stainless steel bolt M4x40 e 5
Lock washer 6 mm @ (] 8 Ergal Plate PIA35JXX 1
Flat washer 6 mm @ - 8 Horizontal element 1+8 144 MHz 7
. & g
Nylon nut M8 7 Dipole Bazooka & Clamp 144 MHz ﬁQ i‘; 1
-

Inbuss key 3 mm. 1 Semi- Dipole @ 12 mm 144 MHz 421 mm 2
Section boom A 25 mm @ 100 cm. 1 Semi - element @ 12 mm 50 MHz 115 cm 2
Section boom A - B 30 mm @ 100cm. | 1 Semi - V dipole @ 12 mm 50 MHz 74 cm 2
Section boom B -C 35 mm @ 100 cm. 1 Semi - element @ 10 mm 50 MHz 952 — 725 — 808 mm 6
Section boom C-D 30 mm @ 100 cm. 1 Dipole with balun ISO25D_12 50 MHz PL connector 1
Section boom D 25 mm @ 100 cm. 1 Insulator ISO25_12 Director 1
Stainless steel parker screw 2.9 x 9.5 I 6 Insulator ISO30_12 Reflector 1

Total Field EZNEC+ Total Field EZNEC+

Dipole in free space 1444 MHz
Azimuth Plot Cursor Az 0,0 deg.
Elevation Angle 0,0 deg. Gain 14,28 dBi
Quter Ring 14,28 dBi 0,0 dBmax

0,0 dBmax3D

3D Max Gain 14,28 dBi
Slice Max Gain 14,28 dBi @ Az Angle = 0,0 deg.
Front/Back 18,13 dB
Beamwidth 34,8 deg.; -3dB @ 342,6, 17,4 deg.
Sidelobe Gain  -3,79 dBi @ Az Angle = 49,0 deg.
Front/Sidelobe 18,07 dB

Elevation Plot

Azimuth Angle 0,0 deg.
Quter Ring 14,28 dBi
3D Max Gain 14,28 dBi
Slice Max Gain

Front/Back 18,13 dB
Beamwidth

Sidelobe Gain
Front/Sidelobe 13,27 dB

I@IXX may vary them without any warning

Made in Italy
www.i@jxx.com

Dipole in free space 1444 MHz
Cursor Elev 0,0 deg.
Gain 14,28 dBi
0,0 dBmax
0,0 dBmax3D

14,28 dBi @ Elev Angle = 0,0 deg.

38,2 deg.; -3dB @ 340,9, 19,1 deg.
1,01 dBi @ Elev Angle = 51,0 deg.



ASSEMBLY INSTRUCTIONS

|

\

o

9 18IXX Tnay vary them without any warning
| Made in Italy
| www.igjxx.com

\
\



e \ w‘

I@IXX may vary them without any warning
Made in Italy

www.i@jxx.com




wod xx[@g1*mmm

Ajeyx ui spep
Bujuiem Aue Jnoyum wayy Adea Aew XXCGI

808




